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Optical Fiber Communication
Time : Three Hours
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Note: i) Attempt any five questions.
for=t o wesl &t &1 HfRTI
ii) All questions carry equal marks.
|t wel & T i §l
1i1}In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Draw the characteristic of optical fiber attenuation as a

function of wave length and explain the properties of the
different wavelength windows.
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b) Derive the expression of numerical aperture in terms of
¥ core and cladding refractive index.
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Caleulate numerical aperture of the step index fiber having
core refractive index n, = 1.48 and cladding refractive index
n,=1.46. What is the maximum entrance angle for the fiber

it outer medium is fiber.
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.a) What are the different mechanism causing absorption in

optical fiber? How can absorption be reduced.
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b) Explain VAD method of fiber fabrication.
VAD a8 | wigar a= & faftr awsnsa

a) Explain about bending losses and core cladding losses.
». How can they be reduced.
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b} Explain the working of OTDR.
OTDR &t FHrfyomeft & ar § w8y

a) What is quantum efficiency? Derive the expression of
quantum efficiency in terms of recombination life time.
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b) With the help of suitable diagram explain the working of
PIN diode. :
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Calculate numerical aperture of the step index fiber having
core refractive index n, = 1.48 and cladding refractive index
n,= 1.46. What is the maximum entrance angle for the fiber
if outer medium is fiber.
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.a) What are the different mechanism causing absorption in
optical fiber? How can absorption be reduced.
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b) Explain VAD method of fiber fabrication.
VAD s | HIgeR a9 6 faftr awsmsel

a) Explain about bending losses and core cladding losses.
».  How can they be reduced.
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!::) Explain the working of OTDR.
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a) What is quantum efficiency? Derive the expression of
quantum efficiency in terms of recombination lile time.
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b) With the help of suitable diagram explain the working of

PIN diode.
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Explain in detail the link power budget design analysis for
optical link establishment.

Afsran THATECI
a) Explain the architecture and working of SONET.
1 Qe @ afhear aik srideft @1 qof i

B) Explain the working of EDFA.
EDFA 6! srivvreft &1 auf &

Write short notes on any two of the following:
a) LED

“b) Splicing

c) Passive optical networks
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